d3aso10 d000a
SNIAINS

suoljnjos buiso|d

LloA'60'gL0C

W02°100poINBWOdIW MMM//:d11Yy
df-o>emuaymmmy/:dily  dlf-odemuay@ojul :[lejy-3

LTL6-7579-(9)-18 2|1wisdey

07£6-v5%9-(9)-18 :dUOYyd

ueder 9/00-LES YESO Mj-elly ‘SWOYD-| BeuopohQ
‘Omu_. 1SoM\ IeMO| mC_U__JD>v_m epswn QOO_H_ Yyiczi

LTL6-¥S579-90 :Xed
02L6-7S79-90 =1
BCUNYLTL—LENA L L HE
=0ER 1 H L LA K dix|
9/00-LESL

al- “O0D VMWMNI s



"9l Aj1ep pue 1om ‘swoy Jo puewsp buihiea Ajspim
9Y3 40/ 133D 0] WIISAS 4950/0 buipis jenuewl
JO abuel aAIsuayadwod e siaJjo NHN

Abojouyoal Ajpudiiy-I13sn

w_zm_..........................g<%<_ﬁ_zo:éﬁmz_
DL e INNOGHOD
Clesreerrreeeeeeeen e o NOTLYOT4193dS “LUVHO NOILOTTAS
L ettt STOLYA

SaLI9S DS @

o

—
l

[e°)

=+ IVINVIN NOILVTIVLSNI

N ......................................Whm<& mo PW—A

©

*SWYHOVIA NOILVTIVLSNI
G rrerrnnrrnnrrnnrraarnanenansanesaneenaesas [NINOJNOD

-NOILVOI14103dS "LYYHO NOIL103T13S

<

m ...........................................Wmm3h<mm
S9LI9S S1 @

s I N 3 L N 0 )
d3s0170 ONIAIS NHN

suoijnjos buiso|>




‘Bunds anbuo} ayl yum
<€4-S1> ‘uonesado 9|qge)s sainsse %G L-/+ Jo 8@bues ay} ulyym paisnipe
yolym ‘Juswiisnipeal uone|eisul  aq ued 82.0} Buisojo pue Buiuedo ay |
Lo = = -1sod 10} paau a8y} INoyum Ases "19}us 0} UaJp[Iyo pue ‘Auep|e ay}
“ o0 E @@ S| uole|[elsul ‘[les sy} uo pajunow ‘paddeaipuey ayi smoje (6459 0)N9
- » / Aldwis aie sjusuodwod ay} jje sy SE |[ews se 8210} BuluadQ
Jadwep Asejoy Jaddojs Jooq
Bupds ||n,
" Sajosde pous uoiljejjeisul Aseg Buljpuey Ase3z
uoinjejjejsul
<74-S1> Ase3

‘Ajusjoin o

7 pauado s1 J00p 8y} UBYM Bwe.}
saddays 100@ pue Joop ay) 0} ebewep jusnaid
J1aqu0sqe ypous pue Bujuado apis sy} uolysno o

)oayo yoeyq -

buuds |Ind

<T4-S1>
\‘\\\\\\uusb\g === ===c== == —_— "JIOALIPMBIJS B YlIm >__WG® UQHWD.—UM Cle]
mecw I s e ued anbuo} pue uonisod ay] “uoiisod
V\ - ; 7/ paJlinbal sy} e uado Joop a8y} pjoy oL
Buwds |jn Jadwep Aljeioy Jaddoys JooQ . |
Hesind uonouny uado-pjoH - Aloyes aoeds pajwi|
Hxa pue Jajus o0} ajdoad Buimole ul UolEe||elIsul Jo wopaal} Jayealb
‘Aupgeras 1sowin yum Buisofo Joop sopinoid ssaujoedwod siy| ‘dosp
'Spaau |euonippe ay} 8y} sjoJu09 walshs bueasq dwnd ww/ Aq ybiy wwg| swely Joop
199w 0] SUOI}OUN} PAOUBAPE BPINOIH -1eab olineipAy padojanap Aimau ay | e ul paoeld sI wsiueyosaw sjoym ay |
sainjes} Jeuondo ajes 1oedwo)

(s|ea1wiayd sulog-lie [njuliey ou) HY %S8-0€ :ANPILNH
suonipuod bunetado
2 0G5+ 01 Q- : a4mesadwa

“umn_Eoul‘
buluds anbiol Ag |0J43U0D 32404 BuIso|D
Noid

widsAs bupjeaq oinelpAy Ag |0J43u0d paads buiso|D
auoz bujuoiysnd ‘auoz ueinbay juswisnipe paads buiso|D
Jagiosge »ooys ‘uadwep Auejoy j013u0d BuIso JooQg

" 08 08-£4-S1 13g40Sqe Yo0ys g
0002 _—
(0] (0174 w000 Ob-£4-S1 Jadwep Auejoy
vl 08 08-74-S1
000°¢ e ve— wiw
oL oy 000¢ Ob-74-S1 J8gJosge »ooys
vi 08 08-T4-S1
000'c _ ww Jadwep Asejoy
0t oY 000¢ 0p-T4-SL
(W) (xew:ww) (xew:6x)
90404 Buiuado |eniur 230435 100Q BIoM J00g UIPIM 1004 "XVIN [PPOW 9DIASP |043U0D J00(

adA} joeduo) adA} joedwo)




z |z 140
o (8 = il
> x|z 55 S
= oz [ } x
™ g
r w s — sped [euondo Us1se) 0] pasn Siauase) 81edIpul SisaLualed Ul SISQUINN 4
I £ f uone|jesul Jad saLeA 4 yied jeuondo sejedipul | |
, f=c=} 5 — W W _ 1 FETSNERTIG) T e o1
, = | o |2 T 101D8UU0D 1xpelg J0od| Te T Olg)4edepy | g1
] e £ S M - ; ~ g (0T) | OT X GW jog xaH| T T (37) 4eddo3s Jadweq| o€ T (46)1aqlosqy YOS | +T
h yan S & T ST X 9N jJog xaH | €1 T (31) 19ddois Jadweq| 6¢ T dey sqv| €1
ﬁ o EE ““““ —— , v | SZTx8W Hog XoH | 2T T 19>peag sadweq| 82 T (3)peig sqv | 7T
! = j T - @v EN NN pabueld| 11 T Jedweq Aeyoy | /2 T Jeddois| 17
. = , (@) | 21T xShW jog xaH| 0T T (BuLieaq Aem-1/m) Aolind| 92 z ?e|d o] 0T
! m g () 8 X pI| mais peayued | 6 z PHg epino Jood| S¢ T Weg BUIIL | 6
< w (2) 8 X bW | mansHuIsUD| 8 4 jj0g aping Jooq| +¢ T pug den| 8
10 = 10 v g X SN | Ma1dS peajued| £ T wiys ‘fpeybldH| €¢ T (310y /m) or0D | £
H More than 150 . 2 SW NN pabuel4| 9 T (37) 3@%oelg Jooa| ¢z I (310y /m) 8r0D | 9
v 9 X pIN| MaIS peayued | § T (3L) 3@peigtooq| 12 T (l9)4eglosqy Yos| &
(@ | TTx9w Jjog aJjenbs| ¢ T Jeoeds | oz T apino Jadweq| v
(v | TT x8W Jlog pabuel4 € T 91e|d Juawnisnlpy | 6T T 19dedg buuds 5
55 mPv 55 . 14 7T X SW jog XeH| ¢ T Buidsdois sz-0s| g1 T bunds 10| ¢
j g ﬁ|v < Z 9T X OW| MaDS peayued| T T des Bupueis | 71 T ey epno| 1
| 7 n T | A0 BV Jauaised ON A0 aweN Med "ON ALD aweN Hed "ON
x“go 5 -+ - S e Ny v/@ (sdaquinu paxoq Aq pajediput) JsI7 s4auaiseq
| o g = & W@VM HA
W - e
, = N ~ A
A+ B} 8 el |
- e (3.L) 6p3
z T 2 - - @ _ Buijies
- = = @U\@
- n : e ,,,,, s g
| |
= 1 &
W _ ./@
| 5
T il

adA} joedwo) adA} joedwo)




Compact type

Rotary damper

Timing Belt

Hold open device

(without hold open device)

(with hold open device)

Back-check device (option)

Aluminum rail

(Length : 2200mm, 3100mm, 4000mm)

Hanger (LE)

Guide roller (option)

Compact type

® Rail processing

D-1. Cut the rail to a length 20mm shorter than the aluminum sash.
(D-2. Position the rail to the orientation in the picture below. Cut the right side

of the rail for right-opening doors and the left side for left-opening doors.

@-3. If the distance from the edge of the rail to the first slotted hole is over
80mm open a ¢ ?6.5mm hole 30mm from the edge (see drawing below).

Add ®6.5 hole if this dim>80mm

Frame Width - 20mm
Cut Edge
Guide
—
L8
)
o 30

Height adjustment plate

@ Tapped holes for rail installation

@-1. Open M6x1.0 tapped holes in the locations indicated in the drawing below.
+ 150mm from the sash nearest to the closing edge of the door
+ 65mm from the bottom face of the horizontal beam.
(for the case of a 10mm gap between the door and frame).

2-2. If the distance between the last hole (opened at 300mm pitch) and
the door frame is larger than 150mm, add a @ ?6.5mm hole 30mm
from the edge of the rail.

150 300mm pitch (eventy spaced) A 20
T
+ + + F +
’’’’’’’’’’’ ®
(TE) (LE) g
s
H Opening Direction ﬁ> 4

® Attach spring and closing-side shock absorber

®-1. Slide four M5x12 hexagon head bolts into the upper groove in the rail.
®-2. Attach spring and shock absorber
+ Position the constant force spring 3mm from the edge of the rail and
fasten with M5 flange nuts
+ Position the shock absorber 152mm from the edge of the rail and fasten
with M5 flange nuts
¥ The shock absorber will be adjusted in a later step.

Wooden door plate

L
.

MODEL D (mm) H(mm)
LR-20 20

LR-25 25

LR-30 30 2
LR-35 35

available.

Stainless type, H42mm type is

LR-OO LR-OON
50 {—60
%% @45%
919 519
214 2 214 %2
s s
c
5|2 3|2
oD g g / Guide rail
(Plastic) | = = ]
f ] Q o
a ==
(=] 'H (=) — H
o it c\iq-i b N ¥
e
4254

Shock absorber (option)

T °

(L type : for DW more than 1400mm)

[

(S type : for DW less than 1200mm)

@ Mounting of pull spring

(3-1. Attach constant force spring to its mounting bracket
+ Align holes as shown in the picture and fasten four M4x6 panheaad
screws Holes for Left-
‘ opening door

. Spring Bracket
Holes for Right-

opening door

Floor guide (option)

LRF-30-S (DT28-41mm)
LRF-30-L (DT40-53mm)

_k,
Guide (plastic)
295 Bearing roller

4-P4xM4 countersunk screw

54,5
39 |

13[12]
275

L
49(~64)

30

85.2(~100.2)

SUS Hairline finish

@ Closing-side shock absorber assembly

K Instructions for standard specifications
For instructions on assembling the closing-side shock absorber (L-type) please
refer to, "Closing-side shock absorber (L-type) Assembly" (separate document)
@-1. Confirm the color on the back of the shock absorber.

« This color is BLACK for the closing-side shock absorber

Shock Absorber

Rear Face: BLACK

@-2. Insert shock absorber into damper guide and fasten.
« Insert shock absorber from the opening side.
« Properly orient the cover and fasten with M3x8 panhead tapping screws
« Attach the shock absorber's end cap (black)

Cover (w / hole)

End Cap
Shock Absorber
Damper Guide

Cover (w/o hole)

® Opening-side shock absorber assembly

Confirm the color on the back of the shock absorber.
®-1. This color is GRAY for the opening-side shock absorber

Shock Absorber
Rear Face: GRAY

(®-2. Attach shock absorber to the shock absorber mounting bracket
¢ Assemble in the order below
(DAttach the absorber cap with M3x8 panhead screws
@lnsert shock absorber into the absorber cap
(@Attach shock absorber to absorber cap
@Attach absorber spacer and adapter to absorber bracket using
M4x8 panhead screws.
®Attach end cap to shock absorber

Absorber Bracket (LE)

Adaptor Spacer

End Cap (GRAY)

(®-3. Attach stopping spring, etc. to absorber bracket (LE)
« As shown in the picture below, attach pars in the following
order: absorber bracket, stopping spring, adj. plate, spacer.

M5x12P2 Hex Bolt \

S78

Stopping Spring

Adjustment Plate

Absorber Bracket (LE)




lelp s.Jedwep

@) ybnouyy @) sdals wouy
sjuawisnipe Buiwiopad ajiym suUoRONIISUI BY} ¥28YD B|IgNOd3sK
*spuodas ybie o} xis usamiaq si uolisod pasofo Ajjny o3 uoisod
uado Ajn} sJoop sy} wouiy swii Buisojd ayi yeyy os [elp sy} isnlpy -
‘Bumes pJepuels ay} 0} paads Buisofo ayy
1snipe ‘(1exor.q Joop Buijres; ey} uo) Jedurep Arejos ey uo [elp eyl Buisn *|-@D

juswilsnipe paads buisod @

1snlpe pue uasoo]

Jaddoys yum Jaquosae
»ooys passaidap ubiy

9¥BIq B} JO SSEUBAIBYS B osy) ‘esesiel pue puey Aq Joop ey uedQ -
sinu ay} uayybil-a1 pue ‘ajels passaidep Ajny ayy uj pos
s, Jaquosge 3o0ys ay) Buiyonoy si i 0s 1ey0eIq Joop Bulpes| 8y} UOHISOd «
18g10sqe o0ys apIs-Bulso|o 8} UO SINU 8y} USS00T -
uonsod uado-Aj|n} 8yi 0} J00p BY} SAOI =
JagJosqe 3ooys apis-Buisojo au Jo uomsod sy isnlpy |-

juswiisnlpe J1aqg.losqge }ooys apis-buiso @

1iog 8pio Joog —

190eIg 9pIH 1000

%)

=

(uondo) 1ex0e1q BpING J00P PUE J0q BpING J00p BUl YoBRY *|—{)

uonejjejsul (3joq) 19xdeIq 3pPING 100Q @

Aol g A8l gL sSuinj JO # Xe\
(no1 G) Boog | (ne1 8) Bogy
(ne1g) Bogg | (ned €) Bovy Buong
(no1 1) 6098 | (ned 1) Bozy
(no10) 6oog | (ne1 0) Booy pJepuels
(no1 1) Bozs | (ne1 1) Boge
(no12) Bog, | (a1 ) Boge RLEEIV
(ne1¢) 6002 | (ned 2) Boze
08€ - ZaH OVE - ZAH  |eues R

suonN|oAal 18x001ds Jo # Jad yibuass Buudg

J00Q uadQ Ajng
1

110 puZ
S

-
IO IS}

1o¥o01ds
uopalip apsoddo ayj up sajejol 1ex001ds 8y} 0s puey Ag Uole| 8y} SN0 «
9010} Bupds ay) 1omo| 0| @
‘[oqe| 8Ly uo pajeodiput
se uoioalip areudoidde ay) ul 13001ds By} UIN} 0} JOALIPMBIOS B 8S( «
9010} Bunds sy} 8siel 0] @
‘Bunds ay) o} ebewep
wanaid o} Bunsn(pe a10jeq uomisod usdo-Ajjny 8y} Ul J0Op BY} UOHSOd 3%
80104 Buuds aup 1snipy *|-@D

jusuwiisnfpe ad.404 burids @

syjod ussoo| Apybis
Bunsnipe 810509 JoWOISNd 8y} YIM }NSUOD 3%
sbumes yibuais Juslayip 881y} 0} 18S 8q UeD Wsiueyoew dols 8yl “z-ED

sinu uaybn

-8l pue ‘addois
uolyssod

SINU USS00T

Jaddois ayy Bunsnlpe 810§8q Jaw0}sSNd 8y} Yyim ynsuod ‘uoiisod
uado Aj|n} 8y} Ul BWely 8y} pue J00P By} USBM}S] SOUBIESIO S| 818U} J| -
uBJsej pue J00p 8y} S8yoNo} } 0s Jaddols 8y} 80w ‘I0op 8y} uado A4 * |-E)

juauisnipe 22104/ uonisod 321ADP HI3Yd-xdeq &

1eab pue yaq ubje
uonejielsul Buung

10}08UU0Y JeMoRIg 100

(37) Jeddois
Jadweq

(31) Jeddoig

jovoeIg Jadweq

uld 188

(Aem-auo) As|ind 3
N A

) uone|eisul
Buunp pajew Apadoid aie yaq Buiwn pue As|ind sy 1y} ainsu3
's}oq xay £d 0LXGIA omy Buisn
(37) 19%08€1q Joop 8y} 0} Jaddos Jedwep pue ‘10}08uUu0d Jexoelq
Joop ay} 0} ‘(da1s snoinaid ay) wouy) 18x0eIq Jadwep syl Yoeny©
*s}|oq xay 0 LXGN om} Buisn (dals snoinaid
8y} Ul pejquiasse) 1exoeiq Jedwep sy} o} (37) Jeddois yoenvy®
's){oq X8y O LXG\ om} Buisn jexoeiq
Jadwiep au 0} (dais snoineid ey} Ul pejquiesse) Jedwep Arejos 8yl Yoeny ()
Jadwep Arejos sy} o Yeys sy ojuo 3 Buipys sjiym Asyind ayy uing 3%
(12qe) s,As)Ind ayi o8y2) Apadoid Asjind ayy JusQO
Jadwep Arejos sy 03 uid 15 “Jeysem onsed ‘Asjind ‘Jeysem oused yoeny(@
(12ge| ey uo pajeoipur) uonoalp Buuesq Aem-suo s Asjind sy} wayuoD(D
18p10 BUIMO||04 BU} Ul B|qUIBSSY 3%
(37) 1e%0R1q J00p BY} 0} Jedwrep Arejos syl yoeny *|-€D

Jadwep Alejod jo bununow €

(uondo) 18]j01 BPIND /

m "Jo)oeIq J00p BU} Jo uomisod ay} isnipe
‘uolresado Buinp asiou sayew Joop
8y} JO YJOOWS JOU S| UOIOW S,J00P 8Uj} § 3¢
"100]4 BY} yIMm
[9A8] SI pue AJUI00WS SBAOW J00P BY} Fey}
wJyuod pue puey Aq oop ayy sjesedQ -
*Joop Buey pue Jsj|o 8y} PUE JOOp U} JO
doy ey} usemieq epinb Jsjjol 8y} WesU| “g—([D)
‘yiopo Aup & yum apinb usjjos sy sdip “z-1h)

I'ey 9piny

'92IS 100p Se Uyons ‘suoieonioads yum Aiea Aew ped
*100}4 8y} 0} (uondo) 4ejj01 PING BUY X1 * |~

loop bueH @

aoon
(mojaq ajdwexs aas) pajbue jou pue
100p 8y} Yim [o]esed pajunow aie sjeyoelq ayj jey) ains ag

(31) ¥exorig Jo0Q

£ (37) ¥eriorag J0oQ

*mojeq Buimelp 8y} uj umoys se sjoq peay uobexay
09 X 8Nl Buisn s}9xj0EIq J0OP BUY UM JOOP By} 198UL0Y | ~@D)

uoijejjeisul 1@oeuq looq @

aleld %007

Jeg BuiwiL

Wiy Iind

+aoe(d Ul )}aq 8y} Bupoo| sinu pabueyy g\ Yim usisey pue jjoq pabueyy
ybnouy) pesul ‘yeq Buiwn eyl Jo pus sy} WoJy Wy abuely 3o0| YOeNY -
Buey pue winy ‘Jres 8y} ul 8A0046 3j0g 8y} ojul joq pabuely g LX8IA Hasu| «
*an0016 8y} ojUl }|Bq 8y} Wasul pue |iel
apInb 8y jo pue yBu ayl yum yaq Buin eys jo pud ybu syl ublly -
1reJ apinb 8y} o3 J18q Buiwn ey yoeny “z-@

745270 04 e
Buiwi ing

WwoOS k= 0002.G2°0 0} §2q Buiwn 8y} 1o ‘000z =1 ‘Wibu8 |es 104 'x3
(rey apin6 jo yibue| =) 762°0 = yibue Hog -
N0 pue mojeq uonenbae syy Buisn yjeq Buiwi syl jo yibus| ey exeNoe) *|-@)

32q BuIwn yoene pue 1n) @

1109 uo dooj

|- deys ul pausise} Me1os 8y} Jo pue ay} uo doo| aim 8y} BueH “z-@D
18|01 BY}
SE 9pIS dWEeS 8y} Uo S| Jjoq 8y} JOo peay 8y} }ey) 0s }0q 8y} Udise «
“JexorIq Joop Buipes| ey 0} 3joq pesy uobexay e usised *|-@)

Hulids ||nd 102UU0) @

(

smais peayued Zd9 LX9IN UM Ualsey
pue Jooy 8yl yum [|iesed si jres epinb ey} Jeyl wiyuog -

Joquiaw awely [BOILSA 8} WOy Ww | [1ed 8inb ay) uomsod -

awey oy} o} |1es 9pING 8y} YOBRY *|-@®

|1ed @pInb ay3 bupunopw @

(37) wsiueyosy doig

Jare| paisnipe aq |iim Led siy) se usiybi Jou og%
*SINU 9\l Yiim udisey Ajosoo) pue
s}joq Jeddols ey} yum (9 deis ul pajquiesse) wsiueyoaw dos oy} ublly @
(uondo) (37) wsiueyos|y doig Jo uone|eIsUI 104 “¢~D)

@]

N
sinu xay
om} usysey Ajasoo|
:09dg pJepuelg Jo4

"mojeq g-4Q dais o} Jajel pajjeisul aq o} are sued [euondo J3%
“1aje| paisnipe aq |im Jeddols ay} se sinu uaybi Jou o
'sinu 9N Yum uajse; Ajpsoo| pue sjjoq asenbs ay) ybnoiy seddos uasu| “z-Q

Ired apInB ey} ojul )oq peay s1enbs LZxgN omi 8pIiS *|~0)
J1addojs apis-buiuado ayy yoenv @

adA} joedwo)

adA} Joeduo)




Hydraulic type Hydraulic +ype

SC TYPE

Door width x height ~ Door weight ~ Door stroke Initial opening

SC TYPE

Type of installation Model name
i (mm: max) (kg: max) (mm: max) force (N .m)
= B SCF-20 20 13.7
A SCF30 1,400%X2,200 I 1,400 176
— SCF-50 50 21.6
Flat bar SCF-80 80 27.4
o~ SCF-80U 2,000X2,200 100 2,000 34.3
S :
3 SCF-120 2 000X 2,500 _ 120 2,000 __srz
® SCF-200 200 441
wn
=3 SCF-200U 2,400X2,500 250 2,400 53.9
=4 SCA-20 20 13.7
= A 17.
FEATURES s Surface-mounted SCAS0 1,400X2,200 S 1,400 S ¥ £ B—
= (with a cover) SCAS0 __ %0 __ 216
SCA-80 80 27.4
SCA-80U 2,000X2,200 100 2,000 34.3
SCB-30 30 17.6
ey Built-in (in a sash) SCB-50 1,400X2,200 50 1,400 21.6
?s y y y .
I{#g SCB-80 80 27.4
b= SCF-50D 25X%2 24.5
£ Flat bar U — EEE— e —
g SCF-80D 40X2 32.3
[72]
= - SCA-50D 25X2 24.5
BS Surface-mounted 1 200%2,200 1.200
) . . i i 5SS (with a cover) SCA-80D 40%2 32.3
NHN’s technology Three sectional closing Quiet operation £ . SCB-50D p5x2 T i
. . speed adjustment . . 2 Built-in (in a sash) - - S —
The closing cycle is controlled by the Reinforced resin rollers and = SCB-80D 40X 2 32.3
hydraullcl door clgser englneered by Each sectional speed can be aIgmmum rail eliminate annoying SCF-50F % 5% 1,400 216
the NHN's superior technologies requlated by its own speed noise. SCF-80F 1,400X2,200 80 : 07 4
accumulated over the extended a dgustmentx\//alve on thpe door closer Suitable for installation at hospitals, g . :
periods of time, assuring stable and Justr ! ’ libraries, schools, and wherever S Flat b SCF-80UF 2,000X2,200 100 2,000 34.3
. permitting safe traffic. . ) . at bar
safe operation. quietness is required. = SCF-120F 120 37.2
ic - 2,000X2,500 I — 2,000 e
SCF-200F 200 441
SCF-200UF 2,400X2,500 250 2,400 53.9
. F-30-2SD 15X 2 19.
Qxﬂ » SCF-50-2SD 25X2 23.5
G IS _80- X
° -8 SCF-80-2SD 1,000X2,200 40X2 1,900 31.4
PTI ON b Flat bar SCF-80U-2SD 50X 2 36.3
S SCF-120-2SD 1,200 X 2,500 60X2 2,300 412
Dual Doors SCF-200-2D 80X2 47.0
- 1,400 X 2,500 — 2,700 e
SCF-200U-2SD 95X 2 57.8
Operates dual doors Stable operation Optional features
Note 1: Custom-made specifications are available upon request.
of up to1 90kg Non-critical thermostatic valves Provide advanced functions to meet P P d

. i . Note 2: Manual opening/closing system is available for all models.
Operates as heavy as 190kg, dual provide constant closing speed even the additional needs.

doors (each door up to 95kg.) under extreme temperatures. SPECIFICATION

* Hold-open function
P < Hydraulic Type >

To hold the door open at the required
position. The position can be adjusted
easily with a screwdriver.

Item Description

Door closing control By hydraulic door closer

Closing speed adjustment Delayed zone, Regular zone, cushioning zone
Bi—-Parting Doo Closing speed control By hydraulic door closer
. - Temperature: —10° to +50°C
. Operating conditions
Operates interlocked Humidit: 30 — 85%RH (no harmful air-bore chemicals)
bi-parting doors

11 12



Hydraulic type

COMPONENT (SCB, for single sliding door)

® 0o 060 ®

13

Parts name

P4
o

. | Parts name

Hydraulic closer assembly

Hold open device

Rail

Corner bracket

Door hanger

Hanger roller

Idler pully Pulley bracket

Corner piece Wire

Roller chain Bolt M8 x 25 (with washer)
Chain spring Bolt M8 x 19

Wire-chain connector

DSIIGISIGNS]E

Hex.nut M8 (with washer)

©|@|Q@|0|®|©|®C| &

Wire chain bracket

COMPONENT (SCFN-2S, for double sliding door)

Hydraulic +ype

D Option parts

No. | Parts name No Parts name No Parts name
Mounting piece for rail Pinion gear Base plate
Rail connecting bracket Idler pully Height adjustment plate
Rail Wire chain Guide roller

Hydraulic closer assembly

Wire chain connector

L-shaped bracket

V©©®©®

HISISISISICIOIE

SSISHHISIS] I

Hanger bracket (for high speed door) Wire chain bracket Bolt M8 x 35
Hanger bracket (for low speed door) Stopper Bolt M8 x 25
Rack holder Hold open device Hex. nut M8

149




=
<
S
S
o
c
©
-
<
]
®

3.) Wire chain connector(®) “E” & “F” connect to “C” &” D” of wire chain bracket(®@)

-
g 2
92 Inner width of sash W 0
Q} 20 Rail length L=W-40 20 =
= >
1 | ® @ ® ® @ @ @ @ ® D -
J i Ik >
A ) [ [ [/ s
0
© [ / / ¥ ] / @ J
- * A i
' 8 CD / / / E F Y e 4
= AR [ / ] e\ 0
|l S & KSRl y4
| ] 0 [ - P~ T - = U
% ' g = | O
® Y T ‘ . 8 120 120 Closer position must be ~
) \ | - right side both right and >
o g left handing opening. m
| £ 165 165
< % £ b
C
. ( ,E,\ | = 10 Door stroke >
L -@r \ DW DS= (DW—130) 3
B3 Idler pully p90 a
| . . .
I | I::‘,> Right handing opening n
U K T 3 = as viewd from inspection panel T
*$ T J ‘ L1 1<} b
\ Bolt ) @ | Hydraulic closer assembly | Assy 1 | With chain sprocket (@]
Pan head screw Position diagram for rail-mounting holes @ | Rail Aluminum | 1 -
33~43 M8X25
M6X30 (as viewed from inspection panel) ® [ Rail mounting piece Plastic (9) [ Door height adjustable W
- oo @ | Door hanger SS400 2 | With ball bearing
Minimum 95 o ) Adj. size (less than 300 5 | Hanger roller Plastic 4 | With ball bearing ..o
150 _ Equally divided at a pitch 300 150 ® | Idler pully Plastic 1 1]]
7 | Pully bracket SS400 1 o
Wire (2mm) Stainless 1 -
Roller chain JISRS-25 | 1 m
| | | @ | Chain spring SWPB 1
8 T ' ! D | Wire chain connector SS400 2 (@]
T @ | Wire chain bracket SS400 1 -
o W @ | Chain sprocket 55400 (11]
T Hold open device Assy 1 | Option (@]
C
| Guide roller This diagrams shows right-hand opening.
(Option) To change left-hand opening,
1.) Take out screw “A” & “B” of wire-chain bracket (@).
2.) Close door at right side.
- ol 3.) Wire chain connector(@) “E” & “F” connect to “C” &” D” of wire chain bracket(@)
112 Inner width of sash W -
T {1} 20 Rail length L=W-40 20 >
r
)7”7”W”7”*77 ® @ ® ® @ @ @ ©) ® O r
[ W | N S0 /S ] A [ ] |
— H ()
B = ‘ g —— 7 7  S—————y i -
@ Cc D / / / E ® / & 0
I é A B oot \ Z
+ v ¥ %
s & o mmconll sHeer |
o L =" | = = ~ U 1 U
% g | | —
| Q
b\ g e 120 120 Closer position must be >
3@/ [ ‘QJQ ‘ = right side both right and %
E— ! n left handing opening.
T i I N 165 165
] N !
® 0 ‘ £ 10 >
5N - 2 Door stroke g
T £ DW DS= (DW—130) 0
— ] =
= | ‘ -
Iy Ealnt | i
[T |
f Z > _’*@ I::: > Right handing opening T
/ L ‘ as viewd from inspection panel l\
D Idler pully g130 m
© gjq ‘ . @ | Hydraulic closer assembly | Assy 1 | With chain sprocket 0
: . | Position diagram for rail-mounting holes @ | Rail Aluminum | 1 -
[ ‘E ‘ (as viewed from inspection panel) @ | Rail mounting piece Plastic (13)] Door height adjustable N
1 7 R B Adi. si | than 300 @ | Door hanger S5400 2 | With ball bearing 0
% *LJJJ \—(t H—— % o . J slze ((ess than 5 | Hanger roller Plastic 4 | With ball bearing 0
15Q_ Equally divided at a pitch 300 150 ® | Idler pully Plastic 1 -
7) | Pully bracket SS400 1 m
Pan head screw | n Bolt ® | Wire (3mm) Stainless 1 o]
M8X30 34~44 M8X25 9 | Roller chain JISRS-25 | 1
o | | | @ | Chain spring SWPB 1 (@]
Minimum 115 b [ ? + i ) | Wire chain connector SS400 2 C
@ | Wire chain bracket SS400 1 -
W @ | Chain sprocket SS400 1
g Hold open device Assy 1 | Option
T
—— T Guide roller -~
: <
(Option) This diagrams shows right-hand opening. %
To change left-hand opening, g
- - - 1.) Take out screw “A” & “B” of wire-chain bracket (@). %"
m 2.) Close door at right side. 2-
S
@®




LZL

8L

Pan head screw

M5 x 16 3
X 10 =
K]
C
1 8
C
o
©
(O]
@
3 =R
@
n
@ Idler pully g90
[— E— il —_— st
o
erd Bolt
17~97 M8X25
50 50
100
T
e
T
Guide roller
(Option)
! B o
\
40 ‘ 60
Pan head screw
M5 x 16
21 ©
l
Q
o
3 =
o
Idler pully 90
| = ~
wly
TN B o
17~27 e X2
55 45
[ 100
T
[a)
T
Guide roller
(Option)
- o

No.| Parts name Material [Q" ty| Remark No. | Parts name Material |Q" ty| Remark
@ | Hydraulic closer assembly|Assy 1 | With chain sprocket | @ [wire chain connector SS400| 2
Rail Alm. 1 0 |Wire chain bracket SS400] 1
® | Door hanger SS400| 2 1D | Chain sprocket SS400 | 1
@ | Hanger roller Plastic | 4 |With ball bearing @ |Door stopper Assy 2
5 | Idler pully Plastic | 1 |With ball bearing @@ |Side cover Alum. | 2 |3.5mm
6 | Pully bracket SS400| 1 @ |Cover Alum. | 1
@ _| Roller chain JISRS-25| 1 Hold open device Assy 1| Option
Chain spring SWPB | 1
[]Option
Rail length L
® ® ® @ @ @ @ ® @
- X X %
4(/ 7, O % —
% 3| D EF §’$ <;7
A B e s
£®L’:NVVV‘V
1 | I
120 Closer position must be
®
165 right side both right and
left handing opening.
Door stroke
DW DS = (DW - 130)
Right handing opening
I:::> as viewed from inspection panel
Position diagram for rail-mounting holes
(as viewed from inspection panel)
L
130 / 130
26 Equally divided at a pitch 300
o
©
1
0
X __ __ __ __ __ _ __
* This diagrams shows right-hand opening.
To change left-hand opening,
1.) Take out screw “A” & “B” of wire-chain bracket (®).
2.) Close the door at right side.
3.) Wire chain connector(®) “E” & “F” connect to “C” &” D” of wire chain bracket(@®)
* Aluminum cover (silver & bronze color) is available.
No.| Parts name Material [Q ty| Remark No.| Parts name Material|Q’ ty | Remark
D | Hydraulic closer assembly|Assy 1 _[With chain sprocket | ® [wire chain connector SS400| 2
Rail Alm. 1 @ |Wire chain bracket SS400| 1
® | Door hanger SS400| 2 1D | Chain sprocket SS400( 1
@ | Hanger roller Plastic | 4 |With ball bearing @ |Door stopper Assy 2
Idler pully Plastic | 1 [With ball bearing @ |Side cover Alum. | 2 [3.5mm
6 | Pully bracket SS400| 1 @ [Cover Alum. | 1
@ | Roller chain s Rs-25] 1 Hold open device Assy 1_| Option
Chain spring SWPB | 1
[JOption
Rail length L
® ® & @ @ @ @ @ @ ®
7 o N
& s
— p — / U
120 120 Closer position must be
@ @ right side both right and
165 165 9 9
left handing opening.
Door stroke
DW DS = (DW - 130)
Right handing opening
as viewed from inspection panel
Position diagram for railimounting holes
(as viewed from inspection panel) Adj. size (less than 300)
L
130 / 130
26 Equally divided at a pitch 300
o
©

* This diagrams shows right-hand opening.
To change left-hand opening,
1.) Take out screw “A” & “B” of wire-chain bracket (@).
2.) Close the door at right side.

3.) Wire chain connector(®) “E” & “F” connect to “C” &” D” of wire chain bracket(@®)

* Aluminum cover (silver & bronze color) is available.

2
0
-
>
r
r
>
d
0
r4
O
>
")
T
>
<
o
0
0
>
L)
[
W
o
)
9
0
0

(NO8-vIOS) SINVHOVIA NOILVTIV.LSNI

adA} o1 |nedpAj

=
<
[~ %
=
1]
=
(]
-
<
S
@




